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EH 4 Al 2,161 2
o 6,470 5
SHE 8,384 7
gd 7,877 6
78 6,634 5
IYA| H 10,666 8
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SFEAN 9,052 7
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A HMF 3,403 3
THA| Horg 1,619 1
AHAIE THAM 2EF 2,232 2| @7 =&
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O|2HA| 2,441 2 | ZZEA| =3
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ik 10,432 8
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M3 2,457 2 | T =
M 1,618 1
Ekc i 6,405 5
ST 4,822 4

radr |2 4,981 4
M3 1,211 1
T8+ 3,809 3
=3 1,417 1] g =g
CHE 3,707 3
T 6,931 5
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a4+ 4,461 3
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aMT 7,922 7|57 =g
=8+ 1,721 1
7%= 7,484 6
-hn 1,148 1| =8+ =gt
o ]
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AbSt 2,811 2 | AbST, A =g
Chs 1,363 1| =7 =gl
s 2,089 2
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e 1,219 1| S5 =gt
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SHET 1,228 1
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Mx 1,552 1| dg+ =3
4ET 1,106 1| T+ =g
453 2,559 2| 45T BT RT3
ds=E 1,294 1| YEF, T x
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